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—— Kredarica —— Ratece Murska Sobota Novo mesto ——Ljubljana  —— PortoroZ



Average annual precipitation, Slovenia, 1961 - 2015 Annual reference evapotranspiration trend in the period 1961 —2011.
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Extent of the Triglav Glacier by individual years, 1850 - 2012
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Annual greenhouse gas emissions by sector, Slovenia, 1986-2017
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Emissions of greenhouse gases by main gas categories, Slovenia, 1986 - 2017

Greenhouse gas emissions outside the EU ETS trading, by sector, Slovenia, 2013-2020
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The Future?
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Sixth Mass Extinction
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Is the green growth possible?

Current economic model and global 3% GDP growth
per year doubles the global economy every 24 years
(2043), four times in 48 years (2067)

Current 80 trillion USD global economy doubles to
160 trillion USD in 24 years etc.

93 billion tons of Material Footprint today for this
economy doubles by 2050 and increases 11 fold by
2100 which is around 1000 billion tons (planetary
limit is 50 billion - so 20 fold less)



Is the green growth possible?

Models show - absolute decoupling of the GDP
from MF is not possible if the world continues

the current global economic growth trend of 3 %
GDP

Models show - global MF has to decrease from
current more than 90 billion tons to app. 50
billion tons in line with planetary limits

Models show - “green growth” is possible only
at global yearly GDP growth less than 1 %






Is current economic growth
compatible with Paris Agreement?

In order to reach the PA target within the remaining carbon budget of
+1.5 °C at global GDP - economic growth below 1 % per year - the
decrease of global GHG emissions has bo be min. 7 % per year, and for +2
"C min. 4% per year

Empirically the ’?reen growth” for the carbon budget of +2 "C is possible
only with radically agressive policies and measures of decreasing the
glol};al GHG emissions in the frame of the global economic growth - GDP
around 0%-0,5% in the long run and if we start this radical project today

Global Carbon budget of +1.5 °C is empirically not reachable any more or

only at negative glo%al GDP (so called de-growth), meaning the

developed countries have to go more negative with de-growth in order to

§iving developing countires with positive GDP some time to catching the
evel of prosperity of developed countries









